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(Examinee write answer in their own words as far as practicable.)

- ER e RS
(The total number of questions is 19)

> UF HEIT 1 ¥ UH &A1 7 deb ATAgadd UH B 3H A fhedl ura usl &b SR
AT g us o1 AT 2 3id FAIRT R
(Question number 1 to Question number 7 are very short answer type questions.
Answer any five of these questions. Each question carries 2 marks.)

> UF HEIT 8 ¥ UH WEAT 14 db olgealid UH &1 39 & fohedl 5 Ul & 3
QST g% uH &1 AT 3 e FUiRa R
(Question number 8 to Question number 14 are short answer type questions. Answer
any five of these questions . Each question carries 3 marks.)

> UH TEAT 15 T U TCIT 19 dob SU3aiT UH &1 38 § fheel e uslf & 3R
QST A% us &1 71 5 3w [AYRAT ®)
(Question number 15 to Question number 19 are long answer type questions. Answer
any Three of these questions . Each question carries 5 marks.)

Sec A

1. fag31Y (a,b) AT (-a,-b) & 1 B g FATd HfFYI
Find the distance between two points (a,b) and (-a,-b).
2. Tf& 15cotA =8 &1 ,aY cos A BT A AT HIfUI
If 15cotA=8, then find the value of cos A .
3. HIF 3ITd HIfT7 (Evaluate):
sin60°cos30°+ sin30°cos60°
4. sin67° + cos75° I 0° A 45° aTM PO m*ﬁﬁmml
Express Sin67° + Cos75° in term of Trigonometric ratio of angle between 0° and 45°.
5. U AP HI fadsd A€ 16 cm # 3R 3gR A 54T 14 cm ¥ 39 ISP FT IFH B
AAB Td HIAY |
The slant height of a cone is 16 cm and the radius of the base is 14 cm. Find the curved
surface area of this cone.
6. x-a, X , x+a @I AT AT BN |
Find the mean of x-a, x , x+a.
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12.

13.

20 gl & TP AE § 4 909 GG ¢l $9 ¢ ¥ | & 909 1041 BT it &
D! T Tfsan 2 {3 g8 aow
(i) TR 8 ? (i) TRIG TET & ?
4 bulbs are defective in a group of 20 bulbs. One bulb is drawn at random from this
group. What is the probability that this bulb is
(i) defective ? (ii) not defective?
Sec B

39 fig & Fi&nis s S0 N g (4,3 3R 65 B 51T @ YaRIE B
3HTafies ¥9 ® 31 & quTd ¥ fauifsra wvar 8

Find the coordinates of the point which divides the line segment joining the points (4,-3)
and (8,5) internally in the ratio 3:1.

K &1 HTH ATd D51y drfes fw a1 fag Ivat &
Find the value of K so that the following three points are collinear:

(8,1), (K-4), (2,-5)

. U &R gl Y W & fAU 15m 541 v fipaer= ugh e €, 3 yfiy & |y

30° & BIUT UR S[HT §311 81 fpHeT ug) B o1aTs ATd B

A contractor installs a slide 1.5 m high, which is inclined at an angle of 30° with the
ground, for the children to play. Find the length of the slide.

2 sin 3A = cos (A- 26") 81, 5761 3A U g4 HIUT §, @Y A ST 0 AT HIFYI

If sin 3A = cos (A - 26°), where 3A is an acute angle, find the value of A.

5cm, 6cm 3R 7cm YST3HT a@ U st &1 3991 SIS0 3R 5 6% 90¥0 U
319 =1 Y 391 HIfSTY, G =0 A 50 Hiyst &1 Fvra st & 7/5 T
Construct a triangle of sides 5cm, 6cm and 7cm and then construct another triangle
similar to it, whose sides are 7/5 times the corresponding sides of the given triangle.
6em ST &1 U g €T | &g ¥ 10em T BAq vh Rg & g7 W T W@w
A i @ Hfaw |

Draw a circle of radius 6cm. Construct a pair of tangents to the circle from a point

10 cm. away from the centre.

14. U UTH ) Uh IR Bl 51T 81 Fafef@Ed & ure oA & uifiesdar sira HIif3g:

(i) 5 A ISt Up TTAT (i) U I9 JAT (i) Ub 159 IAT

A die is thrown once. Find the probability of getting the following:

15.

16.

17.

(i) a number greater than 5 (ii) an even number (iii) a composite number
Seec

TP TR & gTe-fag & 76 HaT & RRR ST 30T HIvT 30° B 3R vaa s us fag @
AR & IR &1 3999 BT 60° # [AfE MR B FHa1E 50 MeR 8, a va= & Harg
T B3I

The angle of elevation of the top of a building from the foot of a tower is 30° and from
the foot of the building the angle of elevation of the top of the tower is 60°. If the
height of the tower is 50 m, then find the height of the building.

AT 7cm TTA U TATHR sA1d & HUT U 3TUTAT 7@ §311 § | 31eima o1 31feraan
TH FGT 81 HHdT € ? 30 UBR a1 S B1 Y81 ATBa AT B

A hemispherical block is placed on top of a cubical block of side 7cm. What can be the
maximum diameter of the hemisphere? Find the surface area of the solid thus formed.

U 5[H 999 d1dT 3797 UTead! o1 faT ¥ a1fy my firemal A ga ar 9n ae= e
fireT &1 31TafYes AT s5em 91, U fire & el 31em & U 34T §311 31edmire
g1 {5 firema A enfar 0 @ sirat Wiafe e B 5918 10 om 41, a i &1
qrEdfae grfyar SiTd Byl



A juice seller used to give milk to his customers from the glasses shown in the figure.
The inner diameter of the cylindrical glass was 5 cm, but the lower base of the glass had
a raised hemisphere which reduced the capacity of the glass. If the height of the

glass was 10 cm, find the actual capacity of the glass.

18. 3w 3iTereY A m1en T HifS0:

Find the mean of following data:

aif 3T 0-20 20-40 | 40-60 60-80 80-100
(Class-interval)
CIECIEG] 17 28 32 24 19
(Frequency)
19. FH 33 s ATfeaesT sira HIf5:
Find the median of following data:
Tt 3TaRTeA 0-10 10-20 20-30 30-40 40-50 50-60
(Class-interval)
TRARAT 5 8 20 15 7 5
(Frequency)




